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20229 Z0lA LB H FMH
FA: FEH
HE: FMM 2
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHH 297,104 290,523 6,581
=4H 29 235,974 229,558 6,416
MO At B 235,974 229,558 6,416
FTHH ARIFR=R/AY 56,900 57,200 A 300
401 Al HIZ 2018 56,900 57,200 A 300
01 A& HI 56,900 57,200 A 300
OLAL2=0=3 ALY 50,000
OLAITUSAAMG(FUAM SHAAY) 6,900
TN FHAtzel 79,210 54,584 24,626
101 @124 dl 16,734 16,148 586
04 DIt 22 XREES 16,734 16,148 586
OF2 29 a3 FH| 144,500 x9H x53] 6,503
OgIAAY 212 73,2803 x60L «1H 4,397
OYgAY 22 AHEE = 4,397 ,000& x11% 484
O=2H =8 &4 & 3 HHI
73,2803 73U x1H 5,350
201 Let2d] 32,200 32,200 0
01 At 22l 15,200 15,200 0
Oget=&H| 14,000
OF ARl ZH| 100, 000& 104 A +12& 1,200
02 22224l 17,000 17,000 0
O =l 4,000
O332= % HAl 13,000
202 O4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
O=otl 1,200
206 = Hl 6,076 5,036 1,040
01 M2 4l 6,076 5,036 1,040
OgdALrs RFUHI(ER) 1,430& *3,5004 5,005
OgdArs RFU(FLR) 1,630& *3504 571
OEz2¢ 22X 4 500
401 Al HI K 201 I 22,000 0 22,000
01 A& Bl 22,000 0 22,000
OFAL Z& = S A 10,000
OFAL HIIEH A XS A 6,000
O&EAN 2F HIJt L T AMIZAL 6,000
405 XHoHF S HI 1,000 0 1,000
01 et EZFH S 1,000 0 1,000
OQRA ZTelfd] 1,000,000 =1 CH 1,000
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